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(U Bl &2 =9 &°l)
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@ 2.5%x2.5x3.14 x 3 = 58.875(cm?)
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®1x1x3.14x5=15.7(cm?)
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(et F2)=1 x (620 - 186) = 248(7M)
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3.5:4.9E 7MY F2 AA59] H| 2 YErHE,
3.5:4.9 = (3.5x10) : (4.9x 10) = 35 : 49
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112

et @ Hol

2 Lehi

9|
0

1

il

]

yd =M=
A3 B8l go

5:12

X 20)

). ¢

1
4




343 7

b

ul
&0

-i

B

=
= /= N
EX e
— o0 N
([
— A ™M
X X X
— AN ™
X X X
— AN ™M
BB R
ERT
R U R




wrabA, 7GR 1 Zoll 4 A,
250 2 o1 B24 + 2 =6 ()

Ak

obELH ofefo} 2L




10.

3 wo] o7} 10em A AAEG O & WS sAFoR
a0 Bal @ omd YUY

w
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[> Hehl 3140cm?

3 A|+= ¥HAE 10 cm, #=°] 10ecm ¢ ¥7]5°] BU
(F1)= 10 X 10 X 3.14 X 10 = 3140( cm?)
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"ol w52
18.84 +3.14 + 2 = 3(cm)
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(B 2] Yol)=9x 9 x 3.14 = 254.34( cm?)
(G Wol)=9x2x3.14x[ |=56.52x[ |
(BHo]) = 254.34 x 2 + 56.52 x| | = 1073.88
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= (15x 15x 3.14) X 2+ 30 x 3.14 x 18
— 1413 + 1695.6 = 3108.6 (cm? )
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